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1) Which statement is incorrect?
(A) at constant pressure, H=E + PV
(B) the thermodynamic symbol for entropy is S
(C) gibbs free energy is a state function

(D) for an endothermic process, H is negative

2) The Standard Gibb’s free energy, AG", is
(A) theresidual energy present in the reactants at equilibrium
(B) the residual energy present in the products at equilibrium
(C) thedifference in the residual energy of reactants and products at equilibrium

(D) the energy required to convert one mole of reactants to one mole of
products

3) Change in enthalpy of a system is due to heat supplied at
(A) constant volume
(B) constant pressure
(C) both at constant volume and pressure

(D) none of the mentioned

4) The enthalpy of a substance (denoted by h), is defined as
(A) H=U-PV (B) H=U+PV
(C) H=-U+PV (D) H=-U-PV

5) The entropy of an isolated system can never
(A) increase (B) decrease

(C) be zero (D) none of the mentioned

6) What is the wavelength range for UV spectrum of light?
(A) 400 nm to 700 nm (B) 700 nm to 1 nm
(C) 0.01 nm to 10 nm (D) 10 nm to 400 nm
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7)

8)

9)

10)

11)

12)

13)

What is the correct increasing order of stretching frequencies for C = C,
C=Cand C-C?

(A) C-C>C=C>C=C B) C=C>C=C>C-C
(C) C-C>C=C<C=C D) C=C<C-C>C=C

Raman effect is scattering of
(A) atoms (B) molecule
(C) protons (D) photons

Sky looks blue because the sun light is subjected to .
(A) rayleigh scattering (B) compton scattering

(C) both (D) none

X-ray diffractometers are not used to identify the physical properties of which
of the following?

(A) metals (B) liquids

(C) polymeric materials (D) solids

Which of the following defines the Mass number of an atom?
(A) number of protons + number of electrons

(B) number of neutrons + number of electrons

(C) number of protons + number of neutrons

(D) number of electrons

How many periods and groups are present in the periodic table?
(A) 7 periods and 18 groups

(B) 8 periods and 7 groups

(C) 7 periods and 7 groups

(D) 8 periods and 8 groups

Which of the following is the correct order of the atomic radii of the elements
oxygen, fluorine and nitrogen

(A) O<F<N (B) N<F<O
(C) O<N<F (D) F<O<N

MA-9022 [3] (PT.0.)


{DBF 7}
{DBF 8}
{DBF 9}
{DBF 10}
{DBF 11}
{DBF 12}
{DBF 13}

14)

15)

16)

17)

18)

19)

The outer electron configuration of Gd (Atomic number : 64) is :
(A) 4f 5d° 657 (B) 4f® 5d° 6s?
(C) 4f* 5d* 657 (D) 4f" 5d' 6s?

What happens to the electropositive character of elements on moving from
left to right in a periodic table?

(A) increase (B) decreases
(C) first increases than decreases (D) first decreases than increases

Give the IUPAC name for the compound :

(A) 2-choro-3-methylbutane CHy-c=CH;
(B) 2-choro-3-methylbutene :;:"::

(C) 3-choro-3-methylbutane
(D) 3-choro-2-methylbutane

Choose the correct one which will react faster in the SN2 nucleophilic
substitution reaction

(A) CH,-CH=CH, = Br (B) CH,=CH - CH, - Br
(C) CH,=CH - CH, = Br (D) CH =CH, - CH, - Br

Salicylaldehyde can be prepared from which of the following reactants?
(A) phenol and chloroform

(B) phenol, chloroform and sodium hydroxide

(C) phenol, carbon tetrachloride and naoh

(D) phenol, carbon tetrachloride

Which of the following regents may be used to distinguish between phenol
and benzoic acid?

(A) aqueous naoh (B) tollen’s reagent
(C) molischreagent (D) neutral FeCl,

20) Name the monomer present in the poly vinyl chloride (PVC) :

(A) vinyl chloride (B) acetylene
(C) butane (D) vinyl acetate
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21) In Avagadro’s law volume is directly proportional to :
(A) pressure (B) temperature
(C) number of moles (D) volume

22) What is the freezing point of an aqueous 1.00 MNaCl solution?
(Kf=1.86 °C/m) (Assuming complete dissociation of the salt.)
(A) —1.86 °C (B) +1.86°C
(C) -3.72°C (D) —0.93°C

23) Corrosion of metals involves
(A) physical reactions (B) chemical reactions
(C) both (D) none

24) Chemical formula of Rust is,
(A) Fe O, (B) FeO
(C) Fe,O, (D) Fe,0,.XH,0O

25) The concept of matter wave was suggested by
(A) heisenberg (B) debroglie
(C) schrodinger (D) laplace

26) The half-life period of a radioactive element is 100 days. After 400 days, one

gm of the element will be reduced to gm.
(A) 12 B) 1/4
(C) 1/8 (D) 1/16

27) What is the size of colloidal particles?
(A) 10-20nm
(B) more than 20 nm
(C) lessthan 10 nm
(D) 30to 50 nm

28) What is called a dispersion phase?
(A) itisthe main layer
(B) itis the secondary layer in which the colloidal particles are dispersed
(C) 1itis the secondary layer
(D) itisthe basic collidal layer
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29) We can add two matrices having real numbers A and B if their
(A) order is same (B) rows are same

(C) columns are same (D) elements are same

30) Which of the following is a conic section?
(A) circle (B) rectangle
(C) triangle (D) square

31) The differential equation 2%+ X*y2x+3,y(0)=5 is
X

(A) linear
(B) nonlinear
(C) linear with fixed constants

(D) undeterminable to be linear or nonlinear

32) Differentiation refers to the process whereby we :
(A) calculate the area underneath a curve
(B) calculate the intercept of a curve with the vertical axis
(C) calculate the gradient to a curve at any point on the curve

(D) calculate the intercept of a curve with the horizontal axis

33) Ifthe distance from the focus is 3 units and the distance from the directrix is
3 units, then how much is the eccentricity?

(A) nfinity (B) zero
(C) unity (D) less than one

34) Which class of carbohydrates is considered as non-sugar?
(A) monosaccharides
(B) disaccharides
(C) polysaccharides
(D) oligosaccharides
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35) Peptide bond is a
(A) covalent bond
(B) 1onic bond
(C) metallic bond
(D) hydrogen bond

36) Which of the following information is responsible to specify the three-

dimensional shape of a protein?

(A) the protein’s peptide bond

(B) the protein’s amino acid sequence

(C) the protein’s interaction with other polypeptides

(D) the protein’s interaction with molecular chaperons

37) The degree of unsaturation of lipids can be measured as
(A) iodine number
(B) saponification number
(C) reichertmeissel number

(D) polenske number

38) Fat soluble Vitamins are :
(A) VitaminA (B) VitaminD
(C) VitaminE (D) All of the above

39) Vitamin C is present in :
(A) tomatoes
(B) papaya
(C) guava
(D) all of the above
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40) Which is the nitrogen base absent in DNA?
(A) audinine
(B) guanine
(C) uracil

(D) thiamine

41) How is the secondary structure of a protein stabilized?
(A) van der wall forces
(B) hydrogen bonding
(C) covalent bond

(D) hydrophobic bond

42) Which is the nitrogen base is absent in RNA?
(A) thiamine
(B) guanine
(C) cytosine

(D) uracil

43) Name the amino acid which is optically inactive
(A) glycine
(B) alanine
(C) wvaline

(D) proline
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44)

45)

46)

47)

Name an enzyme that digests fat?
(A) lipase

(B) sucrase

(C) maltase

(D) fructose

What is the first step in photosynthesis?

(A) generation of ATP

(B) formation of NADPH

(C) through light, excitement of an electron of chlorophyll pigment

(D) formation of glucose

Which of the following is incorrect?
Algorithms can be represented :

(A) as pseudo codes

(B) as syntax

(C) as programs

(D) as flowcharts

If a, b and c are integers, than according to associative law of multiplication
the (a x b) x ¢ must be equal to

(A) ax(b+c) (B) (a—b)xc
(C) (a+b)+c (D) axb+axc
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48) What will be the additive inverse of —5?
(A) 6
(B) 4
©) 3

(D) 5

49) The product of a rational and an irrational numbers is :
(A) always an integer
(B) always arational number
(C) always an irrational number

(D) sometimes rational and sometimes irrational

50) The numbers written to the power of 10 in the representation of decimal numbers
are called as

(A) height factors
(B) size factors
(C) scale factors

(D) none of the mentioned
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Rough Work
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C iydUsU  EZEUY
N.JADgi. Gvg PivAIl efvU 50 ¥HUVEL CEACgia 2£°gh Qiirz ¥4
¥h_P2El 02U aig Avz.
PENgi® ¥+ ¥i_Pal of® ¥jAPU DAl 2IArPEArgl® «pAilP _ASACLZA
JABIZEN ¥j2i°1].
¥+ YwPAil 2£9gEll eAUv—iAz vg—ij 2ivi ¥+¥wP—iAz N.JADgi. Gvg
OfvAIREL ©£gU vUzA, N.JADgi. Gvg PAAILS _ARIAEL 2iA»WAIREL VIAO].
PENgi® _EZEAIIAV ol ERUEEAIRCE «2gUYVEN VIAS®E «¥®ghzg, o2k Gvg
OMVAIL RIERRIA¥E _2fAilz° GAmAURR ¥juhaiunu 2fAilQPAV ci@)
dai "AggAVgiwAj.
¥JAPAIL _2MAikze:
a)  YWAIEAZL ¥HAIREL eAUv—iAz NCj.
b)  ¥w ¥HAil PYU ochrgi® £A®F ® 7 DALY CviAv _JAiikz/ _APRiz
Gvg2£l nzdjt,
c) N.JADgi. CAZAIRCE _ABACLIZ ¥HAik 2VAPAGREN | A¥ETEO2AV VIAC].
GzAPguU, ¥+ YwPAil® ¥+ _ASI 8P “C” _jAiiAz Gvg2iVzlg, ah=/P¥h A
¥A-iAmi ¥£i 8Y%1 N.JADgi. Gvg VAL PRI _ASI 8g 2iAz F PY.VEAV
VAAO]:
¥4 ASI8.® ® @ © (Gzi°gu 2ikv) (AT ¥A-IAmi ¥Ei 2ilv G¥AIEVL)
Gvgz ¥£231zVAik 8g2tUAILEN (avh PR ) ¥+ ¥wPAil® MzViz SA® eAuz®
ajhvai ajAg APk (N.JA.Dgi. Gvg PAvAiLe 2iAg Agzh).
MAZA a¢dp ¥HU MAZQAv ©Zi aiviPAg2£A Ulgiw, —AVzig, CAVe Gvg2£l
v¥h JAZA ¥jUt, AUlvz 2ivik AiiA3izA CAP2EN oigq AURRIE®. N.JA.Dgi.
OALAIACE GzACPgu E££Ar.
C "iyd 2ivi PEor 2iA°ZAgPgh a¢ou¥riz _Yz° N.JADgi. CAVAIL 24  »
ajAq”APA.
C iy SAill ¥jAPAIL £Avg PEor @iA°ZAgPjU 2i£® N.JA.Dgi. Gvg PAY; afvi
«+«zha®Ailz ¥wAIEL »ACghV " APA.
C iy dAiIl ¥+ ¥i_P2£l 2lvi N.JA.Dgi. C iy dAik ¥wAIEl vak efv vUzZIPEAQH
OfAUSOIZA,
PAGI AN gi, ¥idgi @ivi 2 T YEAEIUYVER ¥JAPA PEOrAil MU CERIw, —AUBIC®.
C iydAill zipvize vEQVgidizh PAQi8AZg, CAVe C iySAIMER PAAisU
¥jut, T AUIRIE® 2ivi oAil2iUy, ¥PAg CAVe C iy dAik «ghz) PRI PIUEY: AURRIZA,
F ¥ai+ ¥JAPAiA® CO8gAU®L MIA 50 CAPUY:® SC/ST/Cat-1 C lydUY Pap 8
CAPUYER, OBC C iydUYA Pap 9 CAPUY%EN 2ivi Enlvg C iydUY%d Pop 10
CAPUYEN ¥qAilvPzA.
N.JA.Dgi. PAVAIREN VIAS®L _EZEUY
YWAIEAZA ¥+£U MAZA MAZA CviAv _EP2Az/ _jAiiAz Gvg«givz.
¥w ¥+HU MAzZA &vagl Rjhv ol Cx2A P¥A AT ¥A-lAmi ¥£iclAz Rikv
VIABVPZA. Gvg2Ell 2iA¥dr ®l ¥Aikwi_"Ar.
ayzEYNgia CPgal PAtCgiaAv VALl  A¥EES2AV VIASIAIZA,
N.JA.Dgi. @ivAik° AiiAizA CEA2+P UlgivAUZEL 2iAg Ar.
Gvjlz ¥HU: MIA _ASAIEN O.M.R. CWAiL° aUC¥rigia efUz® £2UEC vPZl,
E®2Az° O.M.R. CAZAILEN 2IE®AIA¥EP ¥jUt [2lc®.

Note : English version of the instructions is printed on the front cover of this booklet.




